

Quote

Page 1

Centerline Supply, Inc. 9201 Brown Ln BLDG 4 - #152 Austin, TX 78754 United States P: (737) 800-9905 **Quote Number:** QTE0026479 **Quote Date:** 07/28/23

Prepared By: alopez
Sales Rep: ALOPEZ

**BILL TO:** 

KILLEEN, CITY OF PO BOX 1329 KILLEEN TX 76540-1329 SHIP TO:

BILLY J STOTTLER KILLEEN, CITY OF 3201-A S. W S YOUNG DR Killeen Tx 76542

**Notes:** BUY BOARD CONTRACT #703-23

<b>Customer P.O.</b> STOP	<b>Ship VIA</b> BESTWAY	<b>Terms</b> NET30		<b>Shipping Terms</b> Prepaid & Add	
Item Number		Ordered	Unit	Price	Extended Price
80110-130 80A [P] STOP 30X30 .0	080 HI	8	EA	\$55.00	\$440.00
30410-102 30K [E] SIGNALERT 30'	' FLASHER RING , STOP, RE	8 ED	EA	\$625.00	\$5,000.00
30410-201 30K [E] SIGNALERT BA	SIC (24/7) SYSTEM (20 WA	8 TT SOLAR)	EA	\$995.00	\$7,960.00

Quotations are valid for 30 days from the date of quotation.	Net Order:	\$13,400.00
	Discount %	10%
	Less Discount:	\$1,340.00
Signature:	Freight:	\$130.00
Note of No.	Sales Tax:	\$0.00
Printed Name:	Order Total:	\$12,190.00

#### Quote

Centerline Supply, Inc. 9201 Brown Ln BLDG 4 - #152 Austin, TX 78754 United States P: (737) 800-9905

**BILL TO:** 

KILLEEN, CITY OF PO BOX 1329 KILLEEN TX 76540-1329 **Quote Number:** QTE0026524 **Quote Date:** 08/01/23

Prepared By: alopez
Sales Rep: ALOPEZ

SHIP TO:

BILLY J STOTTLER KILLEEN, CITY OF 3201-A S. W S YOUNG DR Killeen Tx 76542

Notes: BUY BOARD CONTRACT # 703-23

<b>Customer P.O.</b> PUSH SIGNS	<b>Ship VIA</b> BESTWAY	<b>Terms</b> NET30		-	<b>oping Terms</b> epaid & Add
Item Number		Ordered	Unit	Price	Extended Price
90900-QUOTE 20W INTELLIGENT SIG	N CONTROLLER COMMUNIC	10 CATES & COMMANDS W/	EA WIFI	\$1,300.00	\$13,000.00
90900-QUOTE 20 WATT COLLABORAT	OR - COMMUNICATES AND	10 COMMANDS NO WIFI	EA	\$1,195.00	\$11,950.00
90900-QUOTE BDL-3 Y PUSH BUTTOS	W/ R10-25 SIGN AND FRAI	20 ME	EA	\$375.00	\$7,500.00
90900-QUOTE RECTANGULAR RAPID I	FLASHING BEACON AMBER	20 W/ BLACK HOUSING	EA	\$695.00	\$13,900.00
90900-QUOTE 36" FLASHER RING WA	RNING AMBER	20	EA	\$750.00	\$15,000.00
90900-QUOTE 36" PEDESTRIAN SIGN	- F. YLLW - A3	20	EA	\$79.00	\$1,580.00
90900-QUOTE 24X12 ARROW - F. YLLV	W - A3	20	EA	\$28.00	\$560.00
30981-214 35U [P] SIGN POST GAI	 _VANIZED 2 7/8" X 14' (SCH	10	EA	\$130.00	\$1,300.00
30981-520K TRIANGULAR STUB WIT	TH SET SCREW COLLAR	10	EA-K	\$150.00	\$1,500.00
30981-520 35U [P] GROUND STUB	-TRIANGULAR	10	EA	\$0.00	
30981-530 35U [P] TRIANGLE COLI	LAR ASSEMBLY- (4 BOLT SE	10 ET) FOR ROUND POST	EA	\$0.00	
30691-012 30N [P] U-BOLT-2 1/2"	(UOM EA OR BOX100)	80	EA	\$1.55	\$124.00
30691-002 30N [P] CENTER BOLT A	ASSEM (1-1/4") (UOM EA O	80 R BOX100)	EA	\$0.52	\$41.60

### Quote

Page 2

Centerline Supply, Inc. 9201 Brown Ln BLDG 4 - #152 Austin, TX 78754 United States P: (737) 800-9905 **Quote Number:** QTE0026524 **Quote Date:** 08/01/23

Prepared By: alopez
Sales Rep: ALOPEZ

**BILL TO:** 

KILLEEN, CITY OF PO BOX 1329 KILLEEN TX 76540-1329 SHIP TO:

BILLY J STOTTLER KILLEEN, CITY OF 3201-A S. W S YOUNG DR Killeen Tx 76542

Notes: BUY BOARD CONTRACT # 703-23

 Customer P.O.
 Ship VIA
 Terms
 Shipping Terms

 PUSH SIGNS
 BESTWAY
 NET30
 Prepaid & Add

Item NumberOrderedUnitPriceExtended Price30691-00680EA\$2.83\$226.40

30N [P] UNIVERSAL CASTING FOR 2",2 1/2",3" U BOLTS (UOM EA OR BOX 100)

10%
\$6,668.20
\$1,950.00
\$0.00
\$61,963.80
\$



#### Quote

Centerline Supply, Inc. 9201 Brown Ln BLDG 4 - #152 Austin, TX 78754 **United States** P: (737) 800-9905

**BILL TO:** 

KILLEEN, CITY OF PO BOX 1329 KILLEEN TX 76540-1329

**Quote Number: QTE0026526 Quote Date:** 08/01/23

Prepared By: alopez Sales Rep: ALOPEZ

SHIP TO:

KILLEEN, CITY OF PO BOX 1329 KILLEEN TX 76540-1329

**Notes: BUY BOARD CONTRACT #703-23** 

Customer P.O. SPEED CHECK 12	<b>Ship VIA</b> BESTWAY	<b>Terms</b> NET30			oping Terms epaid & Add
Item Number		Ordered	Unit	Price	Extended Price
90900-QUOTE		2	EA	\$3,900.00	\$7,800.00
DISPLAY: SPEEDCHECK-	12, YELLOW 88, WHITE S	TROBE			
90900-QUOTE		2	EA	\$350.00	\$700.00
SIGNS: SPEEDCHECK-12	SIGN, 30X24" YOUR SPE	ED ON ONE LINE			
90900-QUOTE		2	EA	\$140.00	\$280.00
DISPLAY MOUNTS: MOU	INT KIT, BANDING TO POI	E, BAND CLAMPS TO 2.3	8-4.5" OD ROUND	)	
90900-QUOTE	-	2	EA	\$1,200.00	\$2,400.00
POWER SOURCES: 30W	SOLAR KIT 1 X 18 AHR. B	ATTERY			
90900-QUOTE	Strands administrative for a Strands	2	EA	\$140.00	\$280.00
SOLAR KIT MOUNT: SID	E OF POLE MOUNT, BAND	ING TO POLE, BAND CLA	MPS TO 2.38-3.5"	OD	
90900-QUOTE		2	EA	\$0.00	\$0.00
SOFTWARE: SPEEDCHE	CK MANAGER MOBILE APP	(INCLUDED)			
30981-212	**************************************	2	EA	\$115.00	\$230.00
35U [P] SIGN POST GAL	VANIZED 2 7/8" X 12' (SCI	H 10)			
30981-520K		2	EA-K	\$150.00	\$300.00
TRIANGULAR STUB WIT	H SET SCREW COLLAR				
30981-520		2	EA	\$0.00	
35U [P] GROUND STUB-	TRIANGULAR				
30981-530		2	EA	\$0.00	
35U [P] TRIANGLE COLL	AR ASSEMBLY- (4 BOLT SI	ET) FOR ROUND POST			
Quotations are valid for 30 d	ays from the date of quotation	٦.		Net Order:	\$11,990.00
				Discount %	10%
				Less Discount:	\$1,199.00
Signature:	A			Freight: Sales Tax:	\$300.00 \$0.00
Printed Name:				Order Total:	\$11,091.00

#### Quote

Page

Centerline Supply, Inc. 9201 Brown Ln BLDG 4 - #152 Austin, TX 78754 United States P: (737) 800-9905 **Quote Number:** QTE0026601 **Quote Date:** 08/02/23

Prepared By: alopez
Sales Rep: ALOPEZ

**BILL TO:** 

KILLEEN, CITY OF PO BOX 1329 KILLEEN TX 76540-1329 SHIP TO:

BILLY J STOTTLER KILLEEN, CITY OF 3201-A S. W S YOUNG DR Killeen Tx 76542

Notes:

**BUY BOARD CONTRACT #703-23** 

**ESTIMATED LEAD TIME IS 10 WEEKS** 

**Customer P.O.** Ship VIA Terms **Shipping Terms** NET30 Prepaid & Add SPEED LIMIT W/ RADAR **BESTWAY Extended Price Item Number** Ordered Unit **Price** 90900-QUOTE \$8,700.00 4 EΑ \$2,175.00

M75-SA300-8242 SPEED COMPLIANCE SYSTEM W/ BASIC CONTROLLER AND FLASHER RING AND RADAR

Net Order:	\$8,700.00
Discount %	10%
Less Discount:	\$870.00
Freight:	\$475.00
Sales Tax:	\$0.00
Order Total:	\$8,305.00
	Discount % Less Discount: Freight: Sales Tax:

Centerline Supply, Inc. 9201 Brown Ln BLDG 4 - #152 Austin, TX 78754 United States P: (737) 800-9905

**BILL TO:** 

KILLEEN, CITY OF PO BOX 1329 KILLEEN TX 76540-1329

Quote Number: QTE0026603 Quote Date: 08/02/23

Prepared By: alopez
Sales Rep: ALOPEZ

SHIP TO:

BILLY J STOTTLER KILLEEN, CITY OF 3201-A S. W S YOUNG DR Killeen Tx 76542

Notes:

**BUY BOARD CONTRACT #703-23** 

ESTIMATED LEAD TIME IS 10 WEEKS

Customer P.O. Ship VIA SPEED LIMIT NO RADAR BESTWAY		<b>Terms</b> NET30		<b>Shipping Terms</b> Prepaid & Add	
Item Number	-	Ordered	Unit	Price	Extended Price
90900-QUOTE		8	EA	\$950.00	\$7,600.00
M75-SA300 BSC2 20 WATT	SOLAR BASIC SIGN CO	ONTROLLER (NO RADAR)			
90900-QUOTE		8	EA	\$595.00	\$4,760.00
M75-R2430-BW32 24X30 FL	ASHER RING SPEED LI	MIT WHITE			
M75-R2430-BW32 24X30 FL	ASHER RING SPEED LI	MIT WHITE			

Quotations are valid for 30 days from the date of quotation.	Net Order:	\$12,360.00
	Discount %	10%
	Less Discount:	\$1,236.00
Signature:	Freight:	\$550.00
D.C. et al. No. 100	Sales Tax:	\$0.00
Printed Name:	Order Total:	\$11,674.00